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| mportant Mcqgs

Which of the following tests can be used to deter mineif an infinite series converges or diverges?
a) Limit comparison test

b) Ratio test

C) Integral test

d) All of the above

Answer: d) All of the above

Which of the following seriesis divergent?
Ql+1/2+1/4+1/8+..
b)1+1/3+1/5+17+..
C)12+1/4+1/6+18+..
d1-12+1/3-U4+..

Answer:a)1+1/2+ 1/4+1/8+ ...

Which of the following tests should be used to deter mine the conver gence of a serieswith only positive
terms?

a) Integral test

b) Ratio test

c) Alternating series test
d) Divergence test

Answer: b) Ratio test

Which of the following seriesis convergent?
al-1/2+1/4-18+..

b)1+1/2+1/3+14+..



c)1l+1/4+1/16+1/64+ ..
d1U2+1/3+1/4+15+..

Answer:a)1-1/2+1/4-1/8 + ...

What isthe nth-term test for divergence?

a) The series divergesif the limit of the nth term as n approaches infinity is zero.
b) The series convergesif the limit of the nth term as n approaches infinity is zero.
¢) Thetest can only be used for series with alternating terms.

d) Thetest can only be used for series with positive terms.

Answer: a) The series divergesiif the limit of the nth term as n approaches infinity is zero.

Which of the following tests can be used to determine the conver gence of an alternating series?
a) Divergence test

b) Ratio test

C) Integral test

d) Alternating seriestest

Answer: d) Alternating series test

Which of the following seriesis divergent?
aQl-1/3+15-1U7+..
b)1+2+3+4+..

C) 12+ 1U3+1U5+ 17+ ..
d1/2+1/4+18+1/16+ ..

Answer:b) 1+2+3+4+...

Which of the following tests should be used to deter mine the conver gence of a serieswith alternating
signs and decreasing absolute values?

a) Divergence test

b) Ratio test



c) Integral test
d) Alternating series test

Answer: d) Alternating series test

Which of the following tests can be used to determineif a seriesis absolutely conver gent?
a) Ratio test

b) Alternating series test

C) Integral test

d) Divergence test

Answer: c) Integral test

Which of the following seriesis divergent?
a) 1/In(n)

b) Un"2

c) Un!

d) /2"n

Answer: d) 1/



